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UP SI MOCK TEST - 40 (SOLUTION)

81.

82.

83.

84.

85.

86.

2" (2}
@ (2 -3
Then, y¥ - 2
=4%* -2 =254
4 2 6 7
15725715’ 10
Cross multiplication

a c
bxd,ad>bc
ad < bc
—xi—100>301><£—60<90
15 25 715 15
d £><——6O<105
and 15710
6 4 2
Then,

— > — > — > —
10 15 15 15
(D) Let C.P. of goods = %100
M.P. of goods = 125% of 100 =%125

88
SP of goods = 100 x 125 =%110

Profit % =

0
= 0,
100><100 10%

If the number is divisible by 9 the sum
of all its digit is divisible by 9.
4+7+9+8+6+5+P+Q

= 39 + P + Q is divisible by 9

Possible values of Bare 1, 3, 5, 7, 9 as
it is given that last digit is odd

For,( Q=1,P=5),(Q=3,P=3),(Q=35,
P=1),(Q=7,P=8)and (Q=9, P=6)
(D) Let the total number of students be x.
Then, number of students more than
20 years of age = (100 — 63)% = 37% of x
A.T.Q.,

2
37%ofx=42+§of48

= x =200
B)P:Q:R=1:2:3

1 1 1
Then, PO
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87. (D) Trick—t = /—’: x100
81
= 100 =
100 X 9 years

88. (C) Every years installments =
p
100 +[ 100 ]2 +( 100 T
100 +r 100 +r 100 +r
Remaining amount = 4022 - 1500 =
2522
Then, amount of each installment
P
= p) 3
100 +( 100 ) +[ 100 j
100+r \100+r 100 +r
B 22
20 (20]2 [20)3
21 \21 21
_ 2522 x 9261 = 7926.10
25220 '
89. (B) Let A takes days to finish work = x
ATQ.,
x+ 10 =3x
solving, we get
x=35
Time taken by B = x + 10 = 15 days
90. (B) Total registered students = 2000
2000
Students who did not appear = o5 =80
Total student who appeared = 2000 — 80
= 1920
1920 x11 1056
20
(8!2!)5’
91. (A) N
8 x 7121"*° 120
-(277) oo

Unit digit = 6
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92.

93.

94.

(C) Let maximum marks be 'p'.

-~

-~

pxXXxX
100
Minimum passing marks for

Marks obtained by A =

X
A=—p+a

. _ Yp
Marks obtained by B 100
. . _yp
Minimum passing marks for, B = —=——
100
-b ..(id)
As, (i) and (ii) we get,
Gﬂ1+é)=$£‘—b
100 100
— (x- —(a+
= 105 -y =—(a+Dh)
100(a + b)
=P-=
Yy—x

Let time taken passenger train = ¢t
time taken by express train = t - 3
When, distance = 540 km

ATQ,
540 540 _
t-3 t-3

t-3-t
= 540 {m} =15
= 108 = £ - 3t
= t?-3t-108=0
= (t+9)(t-12)=0
=t=9hrsort=-12

Hence, express train will take (12 — 3)
=9 hrs.

i.e. 9 pm+ 9 hrs = 6 AM

Let C.P. of chair be 'x and C.P. of stools
be 'y

ATQ,

4x + 9y = 1340

and, 10% of 4x +20% of 9y= 188
= 4x+ 18y = 1880

Solving the equation (i) and (ii) by
Elimination, we get

y=60

Putting the value of y in equation ...
4x =800

So, The money paid for the chair be
%800.

..{)
... (i)

(i)
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>

95. B 7R

B

(A) A

TL/
11{"\

x\ X
J 1
e

Let side of Hexagon be x

AE? + AL? = LE?

Since, we are forming a regular octagon
so, AE = AL = FB = BG and So on.

Gx

s
St

D C

X
AE=FB=$

AE + EF + FB = Side of square = a

X
SO,E + x+
:x=a(\/§—

(D) HCF of 10, 15, 201is 5
Square are of side 5 cm
volume of cuboid
=20+ 15x 10
= 3000 cm?®
Volume of cube
= (5)® = 125 cm?

3000
125
(D) Let the number of members be x’
ATQ,
xx40+ 12 %x32=(40-4) x (x+ 12)
=x=12
(B) The average of the square of 30 even
consecutive number

2(30+1)(2(30) +1)
3
(C) @+ b*+ & —3abc = (atb+q) (a® + b* +¢* -
ab — bc — caq)
There, a=1.7, b= 2.5, c= 6.8

NoBaka
1

96.

No. of cubes = =24

97.

98.

= 1260.67
99.

a’ +b° +c® -3abc
a+b’+c*—ab-ab-ca

~ (a+b+c)(a2+b2+c2—ab—bc—ca)

a’+b*+c*-ab-bc-ca
=a+b+c
=1.7+25+6.8
=11.
Let his wife get a share of T x
Each of the 4 daughters get =X 2x
Each of the 5 sons get = ¥ 6x
So, x+4 x2x+ 5 x 6x= 390000
So, 39x = 390000
x = 10000 = wife’s share

> 099555208888
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101. (B)

102. (C)

103. (B)

104. (C)

Let sum invested at the rate of 5% be
P,, 6% be P, then at rate of 9% = 17200
— (P, +P)

ATQ,

P, x5%x2/100=P,*x6x2/100 = [17200
- (P, +P)] x9x2/100

Or, 2 P,=[17200 - (11/5)P,] x 3

Or, (2 + 33/5)P, = 17200 x 3

P, = 17200 x 3 x 5/43 = 6000

6
So, P, = < P, = 7200

So, sum invested at the rate 9% =

17200 - (6000 + 7200) = %4000

A B

C D

Area of BECF = Area of two quarter
circle — area of square

= 2nr?/4 - a?

=na?/2 - a? = a?(n/2 - 1)

Number of total students = 100

Number of boys = 70
Number of girls = 30
Average of boys = 75

Total marks of boys = 75 x 70 = 5250
Average of class = 72
Total marks of class = 72 x 100 = 7200

. 7200 - 5250
Average marks of girls = ——————
30
_ 1950 65
30

Total work = LCM of 2 and 6

X will perform = 3 units/hr

2
6
6

X perform between 10:00 AM to 11:00
AM = 6 — 3 = 3 units.

Now, X and Y together will perform
=3 + 1 = 4 units

Y will perform = 1 unit/hr

Time taken for remaining work =

W
X

60 min. = 45 min.
Tank be filled at 11 : 45 AM

Ph: 0955510888

105. (B)

106. (C)

107. (A)

Speed of Train A = 48 x — =
peed of Train 18 3 m/s
Speed of Trai B—42xi—§
peed of Train 18 3 m/s
Length of Train A = 2xm

Length of Train B = x m

Total length = 2x+ x=3xm

Relati d—@+§—ﬁ—25
elative spee 33 3 m/s

As, distance = speed x time
= 3x=25x 12

= x= 100

Let length of platform =y m
ATQ,

40
y + 200 = ?X45

=y =400 m
Let age be x years at the time of
marriage

-
=x = 2%
= 4x+ 24 = 5x
= X = 24
Her present age = 24 + 6 = 30 years
30

Her son's age = 10 = 3 years
As, SM x 10 = 12W x 15

_ 12Wx15

~ 5x10

_18W

5
Now,
SW + 6W
18W

=5x 5 + 6W =24 W
Again,
12W x 15 days = 24W x No. of days

No. of d _12x15
= No. of days = —

7ld
= ) ays

108. (D) Let k be total number of worker

> 099555208888

ATQ,

1
Women worker = g xk
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109. (C)

1 1
Married women worker = 5 x k x 5
1
6

[1-5) -5
Men worker = 3 ><k—§><k

2 3
Married men worker = 5 x k x Z
L k
= —x
2
. 2
Married Men worker = 5 xkx Z
L k
= —X
2
1
Married women ¢ xk
Marriedmen 1
—xk
2
k 2 1
= —X— = —
6 k 3

Hence, Married Women : Married man
=1:3

Total distance

Total number of rounds =—;
Distance per round

4
- - =16

= Speed of A : Speed of B=5: 4

_

Speed

So, time taken by A : time taken by B=4:5
LCM of (4, 5) = 20

Number of rounds completed by A =

As we know that time a

20
4
Number of rounds completed by B
_20 _,

5

When A will complete 5 rounds then B
will complete 4 round and they meet
at a point.

i.e. If A will complete 5 x 3 i.e. 15
rounds

Then he will meet to B.

Hence, A will thrice pass the B.

Ph: 0955510888

110. (D) Let cost price = 3100

100 x 20
100
Selling price after distance

120 x10
100

108 -100
100
111. (B) There are 25 prime numbers less than
100 are
2,38,5,7, 11, 13, 17, 19, 23, 31, 37,
41, 43, 47, 53, 59, 61, 71, 73, 79, 83,
97

112. (C) Time taken by A to cover 100 m

100

Market price = 100 + =3120

=120 - =120 - 12 =X%108

Profit = x100 = 8%

x3 = 60 seconds

Time taken by B to cover (100 — 4) m

= 60 sec + 12 sec
Time taken by B to cover 96 metres = 72
sec

96

727 3
As, relative speed of police and theif
= (10 -8) km/hr = 2 km/hr

Speed of B = metres.

113. (C)

.5 5
18 9
Time taken by police to catch the thief

100
= =

9

m/sec = —m/sec

100x9
5

= 180 sec

_ 180 _ 1
T 60x60 our

20
Distance travelled by theif before he

1 2
—~ = =km

caught = 8 x 20 5

2
gx 1000 m = 400 m
114. (D) As, Lead : Tin

x= 1 2

y= 2 3

Lead in 25 ke = 2> - 25
cadm o Xg= 1,27 3
Tin in 25 k _25x2_ 50
in in 8= 12 " 3
Now,

Lead in 125 k _125x2
ead in €= 5.3 ~

> 099555208888 [ 4 |
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Tin in 125 kg = 125 - 50 = 72

: : 175
Lead in mixture = 50 + — = —(—
3 3
. 50 275
Tin in mixture = 75+ — = —
3 3
175 275
Ratio of lead : Tin = T . T =7:11

115. (D) To maintain M, cows for D, days a milk
man spends W, and to maintain M,
cows for D, days, a milk man spend
W,.
Then,
MlDl

Wl

M2D2
= W,

8x 60
6400

_5n
4800

3 n

40 960

= n= 72

Hence, milk man need 72 days for
maintenance.

Ratio of copper and tin in alloy A =2 :
3

Ratio of copper and tin in alloy B = 3 :
4

20 kg taken from A:

Copper = 8 kg and tin = 12 kg

28 kg taken from B:

Copper = 12 kg and tin = 16 kg

This is mixed with some pure copper = x
kg

Ratio of copper in alloy C/total tin in

=

=

116. (C)

7
8+12+x/(12+16)=6/7
(20 + /28 =06/7

x=4kg

alloy C =

9% of 5700

9% ol 5700 1ooj 0
8%of8s50 )70

117. (C) Required percentage = (

-~

= 75%
Required percentage of 'R' =

o)
[13/0 of 5700) %100 %
10% of 8550

= 86.67%

Required difference

= [(6% + 18%) of 5700] — [(8% + 10%) of
8500]

= (1938 - 15390 = 399

Ph: 0955510888

118. (B

-

119. (C)

120.

121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.
133.

(B) Required percentage

~ (30 x5700 100) %
25 x 8550
= 80%
B) fel id nf{i.k vUidk dh jie/iuh diVimu g]
mih idkj bMef™;k dh jke/tun tdkrk gh
(D) el idkj viLViy;k di jk'vh; 1°% dxkz g mlh
idlj uiky dk jk"Vh, kxk, oA

B) ftl idlj] z-N=12x3 =36
mihidj] Y-M=12x3 =236

(a) ftl idij] 7¢ - 1 = 2400
mih gdkj] 8* -1 =4095

(B) iUk xiHt] yidh] vij [Mjk doy ICth g yfdu
pihrk iy ,0 ICth niuk gh

(C) 23d NiMdj IHib B[k d vdk 1jLij cnyu ij
; D[k, ikr gk g tc 23 ,d e I[;k
cu tk,xh
+1 +1 +2 +1
L ofpd ClRT'% W H X
(B) /TWJBQ] EULRV] % 1§V
+1 +1 +1
(B) (7-3)=4"=64
(11-8)=3%=27
5-4=13=1
mlh rjg] (8-2) = 6°=216
(B) (11)2 = 121
(11)* = 1331
(11)* = 14641

mlh rjg] (11)° = 161051
-3

A]|3C, ZYX, DEllF, WVU, GHI

(A)

+3 +3

(©) gyt 1];1h 225 7215 1425 934Lls 345135 47

cip dk v{ijtZ rY_—>X W V— /U
ol 16 522> 7425912511225 133255

(C) wax/wax/wax/wax/wax

(l &) O
E 0
fd%iv"’

5 fdet

A

0 fde:

02 ¢ p
5 fdelr

10 fdet-

AC |(AB) +(BC)’
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= 100 +100 = 1042 TRAIN UQBHO
. T 1 7F%
dy nji =5+5+ 1042 ' 1
—1
=10 + 102 fdef- &3l
134. (C) MQSBLEM 0
135. (D) 1-3>2+1x5+3—152 149. (B) fB.“.dk.Qze/l
fplgk dk cnyu d cin PXSZRA
1x3+2>1<5>3x1+2 blfy, Pd nifgu X gh
9 i Y,
. % S l<ss % - Igh g 150. (D) %Mh dh Ib d Hjk 6 AV dk di.k
0
136. (C) ARRANGE dk diM 8228641 ¢ = (31620 x J - 180°

137.(C) 5°+6=5+6=11
62+7=6+7=13

724+ 8=7+8=15 151. (D) ‘thlAigij an.IhAlngE
§ro=8+9=17 VIV Ll
138. (A) 101311 121145
139. (4) 2ok IHO Vijk di LR efu sk x;k gh
140. (C) 152. (C) Vk; "k d Hib dk tle glu 1j etri dh vi; =36 0
h d

VX firk di vik; tc vk "k d Hib ok tle gvi Filk
= (38 +4)0'% =42 0%
k

ri] ekrk rFk firk dk vi; dk vrj = (42 - 36)

=60

141. (A) dh I[;k=8+4+2) =14 153. (A)
142.(A) 0 Hkkkk’ oyu oy Nek i I3k =7+8+5=20 |\ o, 1) 5 jtjojt 2015 + 365 fu = 2 iljojt 2016
143. (B) 9C9A9DIBI = — 71 9=

—0+9+:9_9x9=_71 2 i(jojh 2016
144. (D) oh.kk v'ikd dh HiHh g bldk eryc v'ikd of.k + 27 fu iQjojh

d ifr dk Hib g] yfdu v'ikd dk ,d gh Hikb g] + 31 fu elp

InhiA bIfy, Inti oh.kk d 1fr gA dY;k.kh of.kk

dh 1l g dY;Lb ok d ifr dih ek gh ol ri + 30 fnu vey

v'iid Ini di Hib g] blfy, dY:k viikd ol +311nu eb

ek gA + 30 fnu tu
145. (C) vkdk'k dk jx uhyk ghrk g rFik uty dk o'l dgk + 31 fnu tyib

thrk gh vk vidi'k dk jx o'k gh +10 fnu wxLr
146. (A) eurt > uxiut > i"ik > jie > uferi rt ity dk tle 555 fiu cin 10 vxxLr] 2016
- Icl vi/Zd yEck eunk gh ok gvi Fih
147. (A) igyh fLFifr 6 + +4 155. (B)
bn il il d 3 fu cin 27 FiL gk

€:k vij bn d cip cPPi di I[:k 156. (D) 24 rijif¥ d 3 fu cin 27 ”[ g

—18-1-4-=13 4Jh[I27r[rdfnu I['=23

~bndick, ILFu=13+1+6+1=210k 4 ol 1 27 righ[k rd fo'e fouk o N[k
148. (A) ftl idij] 27T kjh[k ongfrokj kXA

ENE TIBFEME 157. (C) dy itk dh Ik = 18
TT fﬁTTT 158. (B)

159. (A)

*1 160. (A)

>
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